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No Outcome || Risk of Outcome
859 1 0.11897
833 I 0.15346

RRR (Relative Risk Reduction):
RRR = 1-RR x100 (%)

NNT (Number Needed to Treat):
NNT = 1/ARR

No Qutcome || Risk of Outcome
871 I 0.10667
845 |l 0.14126

RRR (Relative Risk Reduction):
RRR = 1-RR x100 (%)

NNT (Number Needed to Treat):
NNT = 1/ARR

No Qutcome || Risk of Qutcome
941 (| 0.03487
977 [l 0.05513

RRR (Relative Risk Reduction):
RRR = 1-RR x100 (%)

NNT (Number Needed to Treat):
NNT = 1/ARR

I-Cause li Qutcome
(Primary Outcome: p = 0,031) Treatment (Y) || 116
Control (X) I 151
RR (Relative Risk) or Hazard Ratio: 0.77530
RR = (a/a+b)/(c/c+d)
ARR (Absolute Risk Reduction):  3.44809%
ARR = (X Risk - Y Risk) x100 (%)
Cardiovascular-Cause Mortality Outcome
(Secondary Qutcome: p = 0.024) Treatment (Y) || 104
Control (X) || 139
RR (Relative Risk) or Hazard Ratio: 0.75511
RR = (a/a+b)/(c/c+d)
ARR (Absolute Risk Reduction);  3.45935%
ARR = (X Risk - Y Risk) x100 (%)
Non-Fatal MI Outcome
(Secondary QOutcome: p = 0.014) Treatment (Y) || 34
Control (X) 1| 57
RR (Relative Risk) or Hazard Ratio: 0.63259
RR = (a/a+b)/(c/c+d)
ARR (Absolute Risk Reduction):  2.02539%
ARR = (X Risk - Y Risk) x100 (%)
All-Cause Mortality or Non-Fatal MI Qutcome
(Secondary Outcome: p = 0.002) Treatment (Y) || 139
Control (X) ] 192
RR (Relative Risk) or Hazard Ratio: 0.73064
RR = (afa+b)/(c/c+d}
ARR (Absolute Risk Reduction):  5.25578%

ARR = (X Risk - Y Risk) x100 (%)

No Qutcome || Risk of Qutcome
836 [l 0.14256
792 ] 0.19512

RRR (Relative Risk Reduction):
RRR = 1-RR x100 (%)

NNT (Number Needed to Treat):
NNT = 1/ARR

Risk of Outcome
=a/(a+b)
=c/(c+d)

22,46969%

29

Risk of OQutcome
=a/(a+b)
=c/(c+d)

24.48921%

29

Risk of Outcome
=a/({a+b)
=c/(c+d)

36.74134%

49

Risk of Outcome

=a/(a+b)
=c/(c+d)

26.93590%

19




